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Параллепипед
V=Sосн(Р
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Прямоугольный

 V=abc

Пирамида
V =1/3Sосн.(H

Sполн.= Sбок.+ Sосн.
Усеченная :
       H .               _____
V =  3    (S1+S2+(S1S2)

S1 и S2 — площади осн.

Sполн.=Sбок.+S1+S2 

Конус
V=1/3 (R2H

Sбок. =(Rl

Sбок.= (R(R+1)

Усеченный
Sбок.= (l(R1+R2)

V=1/3(H(R12+R1R2+R22)

Призма
V=Sосн.(H

прямая: Sбок.=Pосн.(H

Sполн.=Sбок+2Sосн.
наклонная :

Sбок.=Pпс(a

V = Sпс(a, а -бок. ребро.

Pпс — периметр

 Sпс — пл. перпенд. сечения

Цилиндр.
V=(R(H ; Sбок.= 2(RH

Sполн.=2(R(H+R)

Sбок.= 2(RH

Сфера и шар .
V = 4/3 (R3 - шар

S = 4(R3- сфера

Шаровой сектор
V = 2/3 (R3H

H - высота сегм.

Шаровой сегмент
V=(H2(R-H/3)

S=2(RH
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